40 Athens Rally Sprint
10/09/2016
AnoteAéopata pe Tnv EAL: Aylog Mepkoiplog 1

No O0&nyég EOv Kat Xpévog No O0&nyog EOv Kat Xpévog EA Z0volo
Oec Zuvodnyodg EOv Opada MQT Otgo Zuvodnyodg EOv Ouada Mowv/Ka®/Mpo A.Mpony.
Ooxnpa Oxnpa A.MpwTov

3 TMAAroz IQANNHZz = A7 8:47.65 3 TMAAroz IQANNHZz C3 (1) 8:47.65 8:47.65
1 PENTHZ AAKIBIAAHZ = F2 102.34 xyAW/w 1 PENTHZ AAKIBIAAHZ F2 (1) - -
HONDA CIVIC TYPE R C HONDA CIVIC TYPE R C (1) -

1 NTO®HZ ANAPEAZ = A8 8:51.87 1 NTO®HZ ANAPEAZ C2 (1) 8:51.87 8:51.87
2 TZAOYZOIrAOY MAPIOZ = 101.53 xAp/w 2 TZAOYZOIAOY MAPIOZ - 4.22
MITSUBISHI LANCER EVOVII C MITSUBISHI LANCER EVOVII C(2) 4.22

5 TPOBAZ AIONYZIOZ = E12A 9:08.19 5 TPOBAZ AIONYZIOZ C2(2) 9:08.19 9:08.19
3 KOAAIAZ IQANNHZ = 98.51 YAW/w 3 KOAAIAZ IQANNHZ - 16.32
BMW M3 C BMW M3 C (3) 20.54

45 TZAANAMATAZ IQANNHZ = 3/D3 9:16.15 45 TZAANAMATAZ IQANNHZ 3(1) 9:16.15 9:16.15
4 MPINTEZHZ FEQPrioz = 97.10 YAp/w 4 MPINTEZHZ FEQPriOoz - 7.96
FORD ESCORT RS 2000 12T, 2L FORD ESCORT RS 2000 IZT (1) 2L (1) 28.50

14 KOMNANAKHZ FEQPrioz = S1600 9:18.58 14 KOIMNANAKHZ FreQPrioz C4 (1) 9:18.58 9:18.58
5 ®APMAKHZ XPHZTOZ = F2 96.67 YAH/w 5 ®APMAKHZ XPHZTOZ F2 (2) - 2.43
OPEL CORSA C OPEL CORSA C (4) 30.93

4 KAPAOANAZHZz BAZINAEIOZ = E1l 9:20.49 4 KAPAOGANAZHZ BAZIAEIOZ C3(2) 9:20.49 9:20.49
6 KAPAGANAZHZ AGANAZIOZ = F2 96.34 YAp/w 6 KAPAGANAZHZ AGANAZIOZ F2 (3) - 1.91
OPEL ASTRA C OPEL ASTRA C (5) 32.84

2 NOMIKOZ IQANNHZ = 52000 9:27.04 2 NOMIKOZ IQANNHZ Cl (1) 9:27.04 9:27.04
7 MNATPIKOYZHZ MIXAHA = 95.23 YAp/w 7 NMATPIKOYZHZ MIXAHA - 6.55
SKODA FABIA S 2000 C SKODA FABIA S 2000 C (6) 39.39

23 BAZIAEIOY ZNYPIAQN = A6 9:29.61 23 BAZIAEIOY ZNYPIAQN C5 (1) 9:29.61 9:29.61
8 MNOATZANOZ BAZINHZ F2 94.80 YAp/w 8 MNOATZANOZ BAZINHZ F2 (4) - 2.57
ROVER MG C ROVER MG C(7) 41.96

32 MAAAKTAPHZ ZQTHPHZ N2 9:31.56 32 MAAAKTAPHZ ZQTHPHZ C6 (1) 9:31.56 9:31.56
9 XPIZTOFIANNOYAA MAPIANNA F2 94.48 YAW/w 9 XPIZTOIFIANNOYAA MAPIANNA F2 (5) - 1.95
CITROEN SAXO VTS C CITROEN SAXO VTS C(8) 43.91

28 KOPNEAAKHZ HAIAZ N2 9:31.68 28 KOPNEAAKHZ HAIAZ C6 (2) 9:31.68 9:31.68
10 OP®ANOZ EYZTPATIOZ F2 94.46 YAl/w 10 OP®ANOZ EYZITPATIOZ F2 (6) - 0.12
PEUGEOT 106 S16 C PEUGEOT 106 S16 C(9) 44.03

34 NAATQNHZ MIATIAAHZ A5 9:31.81 34 TMAATQNHZ MIATIAAHZ C6 (3) 9:31.81 9:31.81
11  AIAAHZ IQANNHZ F2 94.44 yAy/w 11 AIAAHZ IQANNHZ F2 (7) - 0.13
TOYOTA YARIS C TOYOTA YARIS C (10) 44.16

35 TZEPTOZ IQANNHZ = N2 9:31.81 37 AIOZHZ zZNYPOZ C6 (4) 9:31.81 9:31.81
12 MMOPINAHZ AHMHTPHZ = F2 94.44 yA\u/w 12 MMOANTPAZ FABPIHA F2 (8) - -
CITROEN SAXO VTS C CITROEN SAXO VTS C(11) 44.16

37 AIOZHZ zZNYPOZ N2 9:31.81 35 TZEPTOZ IQANNHZ C6 (5) 9:31.81 9:31.81
13 MIMNANTPAZ FrABPIHA F2 94.44 yYAy/w 13 MMPIAAHZ AHMHTPHZ F2 (9) = =
CITROEN SAXO VTS C CITROEN SAXO VTS C(12) 44.16

38 MAYPOMATHZ MAPINOZ N2 9:31.81 38 MAYPOMATHZ MAPINOZ C6 (6) 9:31.81 9:31.81
14 ®PATKOY MIXAHA = F2 94.44 YAy/w 14 ®PATKOY MIXAHA F2 (10) - -
PEUGEOT 106 S16 C PEUGEOT 106 S16 C(13) 44.16

36 ZQHZ AHMHTPHZ = N2 9:31.81 36 ZQHZ AHMHTPHZ C6 (7) 9:31.81 9:31.81
15 TOAYXPONOIOYAOZ FEQPrIOZ £= F2 94.44 yAy/w 15 MNOAYXPONOMNOYAOZ FEQPIrIOz F2 (11) - -
CITROEN SAXO VTS C CITROEN SAXO VTS C (14) 44.16

44 MANAPOYKAZ EAEYOEPIOZ = 3/D4 9:34.28 44 MANAPOYKAZ ENEYOEPIOZ 3(2) 9:34.28 9:34.28
16 TZAAAPHZ NIKOAAOZ = 94.03 YAW/w 16 TZAAAPHZ NIKOAAOZ - 2.47
PORSCHE 911 IZT, 2L+ PORSCHE 911 IZT (2) 2L+ (1) 46.63

21 FILON = A6 9:37.89 21 FILON C5(2) 9:37.89 9:37.89
17 TONAKHZ riQProz = F2 93.44 yAW/w 17 TONAKHZ riQProz F2 (12) - 3.61
PEUGEOT 206 XS C PEUGEOT 206 XS C (15) 50.24

27 KYPIAAIAHZ KIMQN = A6 9:40.81 27 KYPIAAIAHZ KIMOQN C5 (3) 9:40.81 9:40.81
18 PABANHZ NANNHZ = F2 92.97 YAW/w 18 PABANHZ FIANNHZ F2 (13) - 2.92
PEUGEOT 106 S16 C PEUGEOT 106 S16 C (16) 53.16

6 TMNAAKOYTZHZ AHMHTPIOZ = E1l 9:41.79 6 TNAAKOYTZHZ AHMHTPIOZ = C3(3) 9:41.79 9:41.79
19 TMANATIQTAKOMOYAOZ ITEAIOZE= F2 92.82 xAw/w 19 MANATIQTAKOMOYAOZ ZTEAIOZE= F2 (14) - 0.98
PEUGEOT 206 XS C PEUGEOT 206 XS C(17) 54.14

30 ZAKXAIOZ NIKOZ = N2 9:32.19 30 ZAKXAIOZ NIKOZ C6 (8) 9:32.19 9:42.19
20 MIXEAHZ XPHZTOZ = F2 94.37 YAW/w 20 MIXEAHZ XPHZTOZ F2 (15) 10.00 0.40
CITROEN SAXO VTS C CITROEN SAXO VTS C (18) 54.54

11 XATZHKQNZITANTINOY XPHITOZE= A7 9:42.74 11 XATZHKQNZITANTINOY XPHITOZE= C3 (4) 9:42.74 9:42.74
21 MATAAIQTAKH = F2 92.67 YAWw 21  MATAAIQTAKH F2 (16) - 0.55
RENAULT CLIO RAGNIOTI C RENAULT CLIO RAGNIOTI C(19) 55.09

29 MAMAAOMOYAOZ FEPAZIMOZ E£= A6 9:43.97 29 MAMAAOMOYAOZ FEPAZIMOZ E= C5 (4) 9:43.97 9:43.97
22 MOYZAKHZ NIKOZ = F2 92.47 yAW/w 22 MOYZAKHZ NIKOZ = F2 (17) - 1.23
PEUGEOT 206 XS C PEUGEOT 206 XS C (20) 56.32

40 MMNENOYKAZ MAPINOZ = N2 9:44.24 40 MIMENOYKAZ MAPINOZ = C6 (9) 9:44.24 9:44.24
23 MOYPKAKHZ XPHZITOZ = F2 92.43 YAW/w 23 MOYPKAKHZ XPHZITOZ = F2 (18) - 0.27
PEUGEOT 106 S16 C PEUGEOT 106 S16 C(21) 56.59

31 ZYAAAZ IQANNHZ = N2 9:49.55 31 ZYAAAZ IQANNHZ = C6 (10) 9:49.55 9:49.55
24 KOYKAIAMMOHZ MANATIQTHZ = F2 91.60 YAp/w 24 KOYKAIAMMHZ MANATIQTHZ = F2 (19) - 5.31
CITROEN SAXO VTS C CITROEN SAXO VTS C (22) 1:01.90

20 AMEPIKANOZ A6 9:51.05 20 AMEPIKANOZ C5 (5) 9:51.05 9:51.05
25 ZAINHZ AHMHTPHZ = F2 91.36 YAW/w 25 ZAINHZ AHMHTPHZ F2 (20) - 1.50
PEUGEOT 106 S16 C PEUGEOT 106 S16 C (23) 1:03.40

41 MMNOOYTZIKOZ OANAZHZ = A5 9:54.29 41 MIMOYTZIKOZ OANAZHZ C6 (11) 9:54.29 9:54.29
26 BOTZHZ FrEQPrioz = [F2 90.86 YA/w 26 BOTZHZ FEQPrIOz F2 (21) - 3.24
TOYOTA YARIS C TOYOTA YARIS C (24) 1:06.64
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40 Athens Rally Sprint
10/09/2016
AnoteAéopata pe Tnv EAL: Aylog Mepkoiplog 1

No O0&nyég EOv Kat Xpévog No O0&nyog EOv Kat Xpévog EA Z0volo
Oec Zuvodnyodg EOv Opada MQT Otgo Zuvodnyodg EOv Ouada Mowv/Ka®/Mpo A.Mpony.
Ooxnpa Oxnpa A.MpwTov

10 IEPEMIAZ AAEZANAPOZ = A7 9:55.05 10 IEPEMIAZ AANAEZANAPOZ = C3 (5) 9:55.05 9:55.05
27 KONTOZ NIKOAAOZ = F2 90.75 xYAW/w 27 KONTOZ NIKOAAOZ = F2 (22) - 0.76
RENAULT CLIO WILLIAMS C RENAULT CLIO WILLIAMS C (25) 1:07.40

46 TMAPAAEIZHZ NANATIQTHZ = 3/D3 9:55.75 46 TMAPAAEIZHZ NANATIQTHZ = 3(3) 9:55.75 9:55.75
28 MOIMENIAHZ KQNZITANTINOZ E= 90.64 xAW/w 28 MOIMENIAHZ KONZTANTINOZ E= - 0.70
FORD ESCORT RS 2000 12T, 2L FORD ESCORT RS 2000 12T (3) 2L (2) 1:08.10

7 ZEBNTAAHZ rIQProz = E11l 9:56.51 7 ZEBNTAAHZ riQProz = C3 (6) 9:56.51 9:56.51
29 MAPAZ TIQProz = F2 90.53 yYAW/w 29 MAPAZ lNQProz = F2 (23) - 0.76
OPEL KADETT C OPEL KADETT C (26) 1:08.86

42 TYPOZ NIKOZ = N2 10:00.12 42 TYPOZ NIKOZ = C6 (12) 10:00.12 10:00.12
30 APMAro:z NIKOoz = F2 89.98 yAW/w 30 APMAroz NIKOZzZ = F2 (24) - 3.61
PEUGEOT 106 S16 C PEUGEOT 106 S16 C (27) 1:12.47

16 APrYPIOY KONZTANTINOZ = E10 10:01.76 16 APrYPIOY KONZTANTINOZ = C4 (2) 10:01.76 10:01.76
31 NAAAAZ AMOZTOANOZ = F2 89.74 yAW/w 31 NAAAAZ ANMOZITOAOZ = F2 (25) - 1.64
TOYOTA STARLET C TOYOTA STARLET C (28) 1:14.11

47 KAAAITZIAN IQANNHZ = 4/E3 10:04.02 47 KAAAITZIAN IQANNHE = 4 (1) 10:04.02 10:04.02
32 KAAOIrHPATOY MAPIANNA = 89.40 yYAW/w 32 KAAOIFHPATOY MAPIANNA = - 2.26
FIAT RITMO 130 TC IZT, 2L FIAT RITMO 130 TC I1XT (4) 2L (3) 1:16.37

60 AYKAKHZ IQANNHZ = 4/E1 10:14.69 60 AYKAKHZ IQANNHZ = 4 (2) 10:14.69 10:14.69
33 KAMNOYPOBA MAPIA = 87.85 YAW/w 33 KAMIOYPOBA MAPIA = - 10.67
TOYOTA STARLET 12T, 1.4L TOYOTA STARLET IXT (5) 1.4L (1) 1:27.04

18 BOYAIFAPHZ GEOAQPOZ = E10 10:15.38 18 BOYAFAPHZ ©OEOAQPOZ = C4 (3) 10:15.38 10:15.38
34 TZOYKAAAZ AIONYZIOZ = F2 87.75 YAW/w 34 TZOYKAAAZ AIONYZIOZ = F2 (26) - 0.69
TOYOTA STARLET KP 60 C TOYOTA STARLET KP 60 C (29) 1:27.73

50 MNAPAAEIZHZ rQProz = 2/C3 10:17.01 50 HNAPAAEIZHZ riQProz = 2 (1) 10:17.01 10:17.01
35 ZKOYPAZ KQN/NOZ = 87.52 yAW/w 35 ZKOYPAZ KQN/NOZ = - 1.63
FORD ESCORT RS 2000 12T, 2L FORD ESCORT RS 2000 I1ZT (6) 2L (4) 1:29.36

48 MANOYZAPIAHZ XAPHZ = 3/D3 10:21.63 48 MANOYZAPIAHZ XAPHZ = 3(4) 10:21.63 10:21.63
36 TZOTIAZ FNANNHZ = 86.87 YAW/w 36 TZOFIAZ NANNHZ = - 4.62
FORD ESCORT RS 2000 IZT, 2L FORD ESCORT RS 2000 12T (7) 2L (5) 1:33.98

8 TFENAAAKHZ BAZIAEIOZ = E1ll 10:27.81 8 TENAAAKHZ BAZIAEIOZ = C3(7) 10:27.81 10:27.81
37 TZITZIKAANAKHZ AXIANEAZ = F2 86.01 yAW/w 37 TZITZIKAANAKHZ AXINAEAZ = F2 (27) - 6.18
VW GOLF C VW GOLF C (30) 1:40.16

54 KOO®INAZ KONZTANTINOZ = 2/C3 10:45.43 54 KO®INAZ KONZTANTINOZ = 2(2) 10:45.43 10:45.43
38 MHNIQTHZ KQONZTANTINOZ = 83.67 YAW/w 38 MHNIQTHZ KQNZTANTINOZ - 17.62
ALFA ROMEO GT VELOCE IZT, 2L ALFA ROMEO GT VELOCE 12T (8) 2L (6) 1:57.78

15 XIONIAHZ IQANNHZ = E10 10:56.71 15 XIONIAHZ IQANNHZ C4 (4) 10:56.71 10:56.71
39 TMANATIQTAPAZ AKHZ = F2 82.23 yAW/w 39 MNANATIQTAPAZ AKHZ F2 (28) - 11.28
PEUGEOT 106 S16 C PEUGEOT 106 S16 C (31) 2:09.06

51 BAZINAKHZ FEQPTIOZ = 4/E8 10:58.52 51 BAZIANAKHZ FEQPrioz = 4 (3) 10:58.52 10:58.52
40 KAPANIKOAAZ ENMAMEINQNAAZ £= 82.00 xAW/w 40 KAPANIKOAAZ EMAMEINQNAAZ £= - 1.81
LANCIA DELTA HF IZT, 2L+ LANCIA DELTA HF 12T (9) 2L+ (2) 2:10.87

17 ZOYPAZ EMAMEINQNAAZ = E10 11:01.94 17 ZOYPAZ ENAMEINQNAAZ = C4 (5) 11:01.94 11:01.94
41 MNEPNIPAKHZ EMMANOYHA = F2 81.58 yAW/w 41 NEPMNIPAKHZ EMMANOYHA = F2 (29) - 3.42
TOYOTA AE 86 C TOYOTA AE 86 C (32) 2:14.29

26 OQTAKHZ FEQPrioz = A6 11:03.25 26 ®QTAKHZ FEQPrioz = C5 (6) 11:03.25 11:03.25
42 TANANOIMNOYAOZ ANEZIOZ = F2 81.42 yAW/w 42 TFANANOINOYAOZ ANEZIOZ = F2 (30) - 1.31
CITROEN SAXO VTS C CITROEN SAXO VTS C(33) 2:15.60

24 KQTZOMOYAOZ ANTQNHZ = A6 11:04.45 24 KQTZOMNOYAOZ ANTQNHZ = C5 (7) 11:04.45 11:04.45
43 MNAAATANIAH ZO0IA = F2 81.27 yAW/w 43 MNAAANANIAH ZO®IA = F2 (31) - 1.20
CITROEN SAXO VTS C CITROEN SAXO VTS C (34) 2:16.80

9 AZIKHZ AGANAZIOZ = A7 11:27.04 9 AZIKHZ AGANAZzIOZ = C3(8) 11:27.04 11:27.04
44 ZKOPAOZ ZTE®ANOZ = F2 78.60 YAW/w 44 ZKOPAOZ ZTE®ANOZ = F2 (32) - 22.59
HONDA CIVIC TYPE R C HONDA CIVIC TYPE R C (35) 2:39.39

55 ZIA®APIKAZ AANEZANAPOZ = 3/D1 11:29.10 55 ZIA®APIKAZ ANEZANAPOZ = 3(5) 11:29.10 11:29.10
45 KAPOYZOZ IQANNHZ = 78.36 YAp/w 45 KAPOYZOZ INANNHZ = - 2.06
TOYOTA STARLET IZT, 1.4L TOYOTA STARLET 1ZT (10) 1.4L (2) 2:41.45

59 KAPYAAZ OANOZ = 2/C3 11:39.68 59 KAPYAAZ GANO:Z = 2 (3) 11:39.68 11:39.68
46 MNMAZXAAIAOY OEOAQPA = 77.18 YAW/w 46 NAZXAAIAOY OGEOAQPA = - 10.58
PEUGEOT 504 IZT, 2L PEUGEOT 504 IZT (11) 2L (7) 2:52.03

58 ANTQNOIMOYAOZ MNANTEAHZ = 3/D3 11:45.09 58 ANTQNOMNOYAOZ NANTEAHZ = 3(6) 11:45.09 11:45.09
47 KAAANITZH MAIPA = 76.59 xAw/w 47 KAAAITEZH MAIPA = - 5.41
FORD ESCORT RS 2000 12T, 2L FORD ESCORT RS 2000 12T (12) 2L (8) 2:57.44

25 ZMAAAZ AHMHTPHZ = E9 11:25.09 25 ZMNAAAZ AHMHTPHZ = C5 (8) 11:25.09 11:45.09
48 ZEIPAHZ XPIZTOAOYAOZ = F2 78.82 yAu/w 48 ZEIPAHZ XPIZTOAOYAOZ = F2 (33) 20.00 -
PEUGEOT 205 C PEUGEOT 205 C (36) 2:57.44

57 ZAXOZ ZAXAPIAZ = 4/E2 12:13.83 57 ZAXOZ ZAXAPIAZ = 4 (4) 12:13.83 12:13.83
49 ZAXOZ XPHZITOZ = 73.59 YAW/w 49 ZAXOZ XPHZITOZ = - 28.74
TOYOTA AE 86 12T, 1.6L TOYOTA AE 86 IZT (13) 1.6L (1) 3:26.18

56 MHTPOMNOYAOZ KQZTAZ = 2/C3 15:28.53 56 MHTPOMOYAOZ KQZTAZ = 2 (4) 15:28.53 15:28.53
50 MMNOYNAZOZ AHMHTPHZ = 58.16 YAW/w 50 MMOYNAZOZ AHMHTPHZ = - 3:14.70
FORD ESCORT MEXICO IZT, 2L FORD ESCORT MEXICO I1ZT (14) 2L (9) 6:40.88

33 NIKAZ zNYPOZ N2 45:27.74 33 NIKAZ zNYPOZ C6 (13) 45:27.74 45:27.74
51 XATZHNANArIQTOY zZNYPOZ = F2 19.80 xAp/w 51 XATZHMANATIQTOY ZNYPOZ = F2 (34) - 29:59.21
CITROEN SAXO VTS C CITROEN SAXO VTS C (37) 36:40.09
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